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Given below are two statements

Hrer S wa= faw 7o €

Statement I: The length and breadth of a

rectangle are increased by 10% and 20%
re;pectivelv, then its area increases by 23%.

- | Tfe fadt smaa &t ot it =reE |
THAIT: 10% 3T 20% Fhg T ST & af 39H
AR H 23% Jleg BTN
Statement II: In 12 hours, the hour and and the
minute hand coincide 11 times.

\JPEE- 1112 =2 | ue @ gg i fume = g8
11 9 Uah At faedt &)

In light of the above statements, choose the
correct answer from the options given below

IULh YAl B ATetes H, et fau o fawmear

o o Tl ST T ST RIAU:

(a) Both Statement I and Statement Il are false
/&I 1 3T 11 241 319F 2

(b) Both Statement I and Statement Il are true/
F99 1 3R 11 1 T 2

(c) Statement | 1s false but Statement Il 1s true/
H9 1 378 2, foheg ®99 11 T 2

(d) Statement I 1s true but Statement II 1s false/

F94 1 93 8, f5q 99 11
NTA UGC NET/JRF June 20£1(04-01-2022 Shift-l))




Given below are two statements

Hrer <r waw feu o €

Statement I: The length and breadth of a
rectangle are increased by 10% and 20%

respectively, then its area increases by 23%.
HAA- l ferdt 3maa &t TrETg AR =eE o

3T 20% gfeg =t =TT & oF 3@
a?ﬁrm geg &M
Statement

: In 12 hours, the hour and and the
minute hand coincide 11 times.
@ g3

waa- 11 12 e o °e &l 93
11 91 Uak Aty it i

In light of the above statements, choose the
correct answer from the options given below

IUh AT ° el °, Her fau o faweat
o o 9 39T T o9 Sifu:

(a) Both Statement I and Statement Il are false
/&I 1 3R 11 a1 379 2

(b) Both Statement I and Statement Il are true/
Fa= 1 3R 11 24 99 @

(¢c) Statement I 1s false but Statement Il 1s true/
H99 1 319 2, fhg 97 11 9 @

(d) Statement | 1s true but Statement Il 1s false/
F99 1 94 2, f6q 99 11 397 2
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Ans. (¢) FIF-1 TAd 2|

UM, A & s = x y

3R 3 & 9IEE =y

d: AFA H GIHA Jxy

* T R

Tgl, 379d &l 3 ovars J=x+0.lx—l.lx
ﬁﬂm&ﬁqﬁm:y+/ iy+02y—12y

Ha: mﬁ?m‘"r:m@'ﬂﬁ:(l 1x) x(1.2y) = 1.32 xy
gf& = 1.32 xy —xy =0.32 xy J
— —

% g = 232X £ 100=0.32x100 =32%

HY9-11 &1 21

el ot &) wve @t o e @t g 9 65 e
Fug oy e 8 AfF e e sma 1811 o &
dg 10 9% v w9 freedt @ 9fdT 11 ¥ 1 99 & i
%dc THaR 919 e 21 3 F99 "2 90 § 9 )

T o e &) g 11 aR ay fred @7 5@ 2




A clock takes 5 seconds to strike 5 times at 5
O'clock. How long will it take to strike 9 times

at 90'clock?
5 9 5 AW a9 o ot Ush Ot &l 5 Tohed

T GUT AT §1 IHAT 9 & 9 9 I W
fera=r T e ?

(a) 9 seconds/9 ﬁﬁ?s{q

(b) 10 seconds/10 ﬂm

(¢) 12 seconds/12 TheH

(d) 8 seconds/8 Thed
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A clock fakes 5 seconds fo strike 5 fimes at 5

O'clock. How long will it take to strike 9 times
at 90'clock? .
5 § AN a9 o o0 1@ wE @ 5 ke

@ TWT T §| IR 9 a9 AN a9 W
fepera T e

(a) 9 seconds/9 W

(b) 10 seconds/10 @%}I

(c) 12 seconds/12 aﬁ)—ﬁl

(d) 8 seconds/8 ﬁ?}ml
UGC NTANET JRF June 2020 (17 Oct.) Shift-I

Ans, (b) : 5 dﬁ SM‘“:' 3 & 0'” Hefel ATl
2| 3 Y% Fd § o a9 = N

T O TR T H A = Ox § =
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What is the actual profit when the profit on
selling price is 25%?

afe, fosha TEd W AW 25% ¢ o1 aneiods o
g’

(a) 33.33% (b) 30.33%

(¢) 25% (d) 20%

UGC NTA NET JRF June 2020 (5 Nov.) Shift|




What is the actual profit when the profit on
selling price is 2%

u&fmmmmzs"/ohmﬁmm

g

(a) 33.33% (b) 30.33%

(c) 25% (d) 20%

UGC NTANET JRF June 202] 3 Nov.) Shift-]

Ans. (a) : 3¢ o5 77 W o foan 2 @ avfes -

ﬁamawwam%

1001"&'11tﬂam%
25

IOO 25

:>25x100 :>]x100
15 3

x100

—

x100

= 33%% =33.33%

/




. What will be the remainder when 4’ is divided

by 15? W
£ 3 159 fafod & @ e @ g -

(a) 4 (b) 5
(c) 8 (d) 11 \/

UGC NTA NET JRF June 2020 (S Nov.) Shift-1
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In a class of 65 students, 27 speak Hindi, 21
speak English and 17 speak Bangla, 7 speak
only English and Hindi, 6 speak only Hindi and
Bangla and 5 speak only English and Bangla. If
12 speak only Hindi then how many speak all
the three languages :

65 feremfelan areft ues wem ® 27 ferameff fa=t
aed §, 21 faendf st ae § 3 17
fermeff aivem aed §1 7 foendf e sl
IR = oo €, 6 faendff e = 3in
AT et & dor 5 faendf e sisht v
ATe arerd 81 afe 12 faendf shae &=t s
¢ ot fera faameff wdt =1 vt arera €

(a) 3 (b) 4

(c) 3 (d) 2
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In a class of 65 students, 27 speak Hindi, 21
speak English and 17 speak Bangla, 7 speak
only English and Hindi, 6 speak only Hindi and
Bangla and § speak only English and Bangla. If
12 speak only Hindi then how many speak all
the three languages :

65 fornfifat areft ww wen W 27 ferneff fh
aed ¢, 21 faeneff ok A § e 17
P I g g Y G QU
AN =t oo §, o faeneff dhaw fa=t @i
AT Aot & aar 5 fendff Faer s oiv
afte aerd §1 Y 12 feranelf Srrer = alrer
& ot fee feremeff meft it st e £

(a) 5 (b) 4

(c) 3 (d) 2

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1

3¢ 9ft 79 o I | W@ & ae-
Rl o - e e =12 v
Faq f=dt 3 3t -7
%aafaﬁﬁaﬂtwm-ﬁ/

3R 3 9 T

REAREI

A

g- 27

0 a8 B S dF 9 a2
=27-(12+7+6)
=27-25

2/




- The sum of the squares of three numbers is 83,
while sum of their products of each of the two
number is 71. Their sum will be-

= wEan & o @ an 83 §1 I W e
3t TN & WO U & anT 71 81 3
T T AN g
(a) 15 (b) 49
(c) 142 (d) 225
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- The sum of the squares of three numbers is 83,
while sum of their products of each of the two
number is 71. Their sum will be-

A W & a @t g 83 ¢ 3 W Y

W@l & TR UG & T 71 €1 g

HEAT T AT

(a) 15 (b) 49

(c) 142 (d) 225

UGC NTA NET JRF June 2020 (4 Nov.) Shift-I1

Ans. (a) : ﬁzﬂg
mq@raﬂmmﬁmm.
mmmammaﬁww:@)
H: (A Tt & Ay = dH G & an & am
igxmammaswwmm
=83+2x7l
=83 + 142

=225 =225
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. The average of seven consecutive numbers ?
33, The largest of these numbers is

T e s & afvem 33 &1 3 o
a2 e gt

@) 39 (b) 34

(©) 36 d) 38
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. The average of seven consecutive numbers is
33, The largest of these numbers is

I e e & ot 33 41 3 4 v

3 e g
) 3 UKL
o) 3 03

UGCNTANET JRE June 2020 (4 Nov.) Shift-

Ans. (¢) : 1 A i GG £-

W, s S
n+n+l+n+2+n+3+n+44n+5

1

7n+2]:33

:
1 7(n+3)

7,

=33

q nt3 =33
q n=33-3

.n=30J \_‘
qa@aeﬁfrw:mm:%z)

=33




If Q, Q* and C respectively denote the set of
rational numbers, the set of irrational numbers
and the set of complex numbers, then which of
the following is different from the other three?

afg Q, Q* TUT C Wy URww wEns &
AUoEd, JURHT WA & HYoad Td qiay
@SN o Wewd @i Gred atd @, af (e o
¥ &= I o | e g?

(a) AM, GM, HM

1,7
b) -=,3,—
(b) B

(c) Q,Q*C
(d) Kaliyug, Satyug, Dwapar

Hierq, TG, 5T




If Q, Q* and C respectively denote the set of
rational numbers, the set of irrational numbers
and the set of complex numbers, then which of
the following is different from the other three?

afe Q, Q* AT C WY URHT wEmen &
Ao, URHA HES & WYead U@ WAy
e & W @ gl wid @, a‘rﬁn:rﬁ
ﬁﬂ?ﬂ?ﬂ?ﬁﬁﬁp
()AM GM HM

g 3
(b) e

(c) QQ*C
(d) Kaliyug, Satyug, Dwapar

Hier, FAgT, ZTH

Ans. (d)/:’ﬂﬁ'ﬁ'a W& g @ g H‘@quﬂﬁ
¢ fo @ el o offg 3T & 9§ I fon o
mélm%m@ﬂ% aﬁ(v% GC
piepkie § N

HURG - T i den w v den 8

S (31 o) % B9 T oren 1 W 41 G
mﬁmmmmmaﬁﬁl

TR - 2 =1414213562373.........

wftmsr wEm- aftny derd A ¢ {atbi, a 3 b)
qrifae ST 21 W@ | Heatd | v




Match List-1 with List-11 :

Teit-1 o |y -1 &1 fiem sif—
List-1/g=H-1 List-11/g=h-11
(A) Supplementary (I) Angles less than 90°
angles
O HI0T 90° § HF & HIVI
(B) Complementary (II) Two angles whose
angles sum 1s 180°
FHIfCqTH 0T & fomar A
180° BT 21

(IIT) Angles greater than
90° but less than 180°

90° H e
1800133511%5#'1%

(C) Acute angles
= 0T

-

_—

(IV) Two angles whose
sum 1s 90°

31 v e 9 90°
gl 2|

Choose the correct answer from the options
given below :

el o T fareut & | W I & A At
A B C D

(a) I 1 l v
(by IV 11 I |

© 1 IV 1 1
@ 1 IV oIl /\
NTA UGC NET/JRF June 2021(05-01-2022 Shift-1I)

(D) Obtuse angles
fer T

v Vv



Match List-1 with List-11 :

Teit-1 o |y -1 &1 fiem sif—
List-1/g=H-1 List-11/g=h-11
(A) Supplementary (I) Angles less than 90°
angles
90° M FH & FHIT
(B) Complementary (IT) Two ang!es whose
angles sum lS 180°
ﬁFEFI T
I80°

(IIT) Angles greater than

(C) Acute angles
~’  90°but less than 180°

(D) Obtuse angles
fer T

(IV) Two angles whose

sum 1s 90°

2 Fm
gl 2|

Choose the correct answer from the options
given below :

et e T oot o W W IR @ T ditwd—

A B C D
(a) I 1 l Y
(by IV 11 I |

ey I IV 11

= A 0T e @ 1 IVom I
. 180° § 1 & H NTA UGC NET/JRF June 2021(05-01-2022 Shift-I1)
Ans. (¢):
A. TGO HIUT | [1. & HIT fSTehT AT 180° BIdT 2 |
B. &I o1 | IV. & HIT | AT 90° BT 2 |
C. =gq HIvT I. 90° 9 &H & HIUT
D. 3ifera il I11. 90° & 3k fabq 180°
g & & HIUT




. The numbér which is nearest to 3105 and.
exactly divisible by 21 is :

forerifea ® @ 3105 @t fiaeau 3t 21 g

gvhfawmmm-xﬁ %?
(a) 3101 (b) 3108
(c) 3087 (d) 3107

NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)




. The number which is nearest to 3105 and
exactly divisible by 21 is :

frifera & & 3105 @ frcheaw 321 gnr
Eﬂfﬁ: ﬁwuﬁqﬂéﬁ %?

(a) 3101 (b) 3108

(c) 3087 (d) 3107

NTA UGC NET/JRF June 2021(05-01-2022 Shift-1I)

Ans. (b) : SRR, \// |

3105
v 21 2148)(31_3 Easy Notes 4u
H: 3105 o a9 fhedn @A 3108 8 & 21 ¥ || Online Study &
faword 2 | -

3d: fawed (b) 94 2




The angle made by the minute hand of a clock
while moving from 3:45 pm to 6 pm is:

TS Y US U fiAe & g3 gNT g 3:45
T W AUE 6 o &l 3N W 0T T
(a) 540° (b) 740°
(c) 810° (d) 510°
NTA UGC NET/JRF June 2021(04-01-2022 Shift-I1I)



. The angle made by the minute hand of a clock

while moving from 3:45 mtoﬁpm IS: O
U& B9 U W e & G N 3TUE 3:45 o
a9 ¥ AWE 6 Tl @t AN Fd qHI S “v\,' - \
T AT IO BT 8 3,0 - =
(a) 540° (b) 740° ‘g; ——

) 810° (d) 510° -
NTA UGC NET/JRF June 2021004012022 hite-1y (3" | (5

Ans. (¢) : 999 3:45 — 6:00 ./l \ ’ \/
Fd T = 135 A

== &,/_5-.&7
Eﬁ‘lﬂwwﬁnmmwm:/%ﬂ @ @

a: 135 faae & fme & 93 g/ a=man 13 &
= 135x%6° = 810° b.01~.(_9
37q: fa&ed (d) 99 21




The angle made by the minute hand of a clock
while moving from 4:40 pm to 6:10 pm is

uet o fie &t 93 g 4:40 a9 ¥ 3U0E

6:10 & ST 30T T H S QT K0T T34 §2
(a) 450° (b) 490°
(c) 540° (d) 610°

NTA UGC NET/JRF June 2021(27-12-2021 Shift-11)




The angle made by the minute hand of a clock f"" ‘”“ﬁfﬁ““‘ _ ”
while moving from 4:40 pm to 6:10 pm is S @3@:

wd § fe @ 9f oUg 440 T B g | 0P - ifeee )/
6:10 T T 3T TH W B W B0 @A G | [

a@ﬁﬁﬁq{mmmmﬁﬁme:m
(a) 450° (b) 490° o 7 T B A = 6:10-4:40=1:30

0 0 | 5ver 30 e
(c) 340 (d) 610 ia: T8 07 = 1 x360" +30 x 6’

NTAUGC NET/JRF June 2021(27-12-2021 Shift-IT) | |= 360+ 180° = 540’
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X is as much youunger to Y as he is older to Z.
If the sum of the ages of Y and Z 1s 36 ve élz'l
What is the age of X?/ Y @ X 3o &

mwzﬁmtlmvfﬂzﬂmw

A 36 U ¢, A X @i HG g7
(a) 15 Years/ay (b) 16 Years/a¥
(c) 18 Years/dd (d) 20 Years/a¥

NTA UGC NET/JRF June 2021(26-12-2021 Shift-1)
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X is as much youunger to Y as he is older to Z.

If the sum of the ages of Y and Z is 36
What is the age of X?/ Y # X 3a &

e 4

e &g 2 @ &gt 81 3fe Y 3R 2 &t 3y &

AT 36 A §, 7 X A MY AL
(a) 15 Years/ay (b) 16 Years/a¥

(c) 18 Years/a¥ (d) 20 Years/@¥
NTA UGC NET/JRF June 2021(26-12-2021

Shift-1)

Ans. (¢) T

Y-X=X-Z
4 Y+7Z=X+X
7 Y+7=2X .. (1) /
WYz (i) [fmd)
il i) (i) -

W F 36
| x=%§=m\//




How old is Ravi if in 8 years time he will be
twice as old as he was twenty years ago’

afe ¢ 7t ugm a & o w20 6 0

@1 AT @ e 0 g T g, A A I
g feret 7

(a) 36 ()48 (c) 28 (d) 26
NTAUGC NET/JRF June 2021(24-12-2021 Shift-1)




How old is Ravi if in 8 years time he will be
twice as old as he was twenty years ago

7y § ot vy fa & o e 20 ad v
@ 9 @ e ¥ g T A A o
Ll

@36 (b4 (c) 28 (d) 26

Ans, (b) HFIT Iﬁ?ﬁaﬁﬂﬂﬂﬂxaﬁ?l
LIRS x+8 2(x 20)

NTAUGC NETHRF June 2021(24-12-2021 Shift-I
02'/0—\"%"' J/‘b

e /
§+40=2x-x

18 =y Gpa )
=

(=)

#




. A mixture contains water and milk in the ratio

1 : 5. On adding 5 litres of water, the ratio of
milk to water becomes 5 : 2. The quantity of
milk in the original mixture is:/ Ue fagmr o

T 3 g T S 1 : 5§15 Fet a3
fireT, T g&r 3 Tt BT SIUTE 5 : 2 @ W
&1 yrefieren fivsror & ger @t e §-

(a) 16 litres/16 T (b) 25 litres/25 et
() 22.5 litres/22.5 1T (d) 32.5 litres/32.5 wfeX

NTA UGC NET/JRF June 2021(04-12-2021 Shift-11)
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. A mixture contains water and milk in the ratio
[ : 5. On adding § litres of water, the ratio of
milk to water becomes 5 : 2. The quantity of
milk in the original mixture is:/ e Frgwr

e it g @t e 1501 § it e o
e, W g4 3t Ut & R S 2 @t
£ yrefisr fivgror o g et ¢-

(a) 16 litres/16 T (b) 25 litres/25 e

(¢) 22.5 litres/22.5 et (d) 32.5 litres/32.5 el
NTA UGC NET/JRF June 2021(04-12-2021 Shift-11

— o — - - —_— —--\q. -— —_— o=

z

Ans (b) 7, BA01 7 g (G5t 31 T = x e
| e N
RV
X+5 2

T, 10x=5x+28

T, 5=

7. SRR Ry W 9 4 AR
=§x5=5 T




A total of 324 coins of 20 paise and 25 paisé
make a sum of ¥71. The number of 20 paise

coins is
20 3 25 T U & 324 Toat & A @ 71
wUT @t T S 21 20 TR & fadent @ W@
%-

(a) 124 (b) 125

(c) 144 (d) 200

NTA UGC NET/JRF June 2021(26-11-2021 Shift-]




A total of 324 coins of 20 paise and 25 paise
make a sum of T71. The number of 20 paise

Coins s v

20 30 25 T8 Ue & 324 Pt & A @ 71
‘v‘uﬁaﬁrrfsmaﬁ%lz M#F@T
2

(a) 124 (b) 125

(c) 144 (d) 200

NTA UGC NET/JRF June 2021(26-11-2021 hif-)

Ans. (d) : 7 20 T & fol 31 3 G x €
1 25 T8 & fieral 9t a5t W = (04X
TR,
020 xx+025(34-%)=371
20x+25(34-x)=T100 ~ -

20 + 8100 - 25x = 7100

5x = 1000

x=200

3 25 T & il @ Fa 96 = 324-200= 14




A man weighs 75% of his own weight plus 3
Ibs. How much does he weigh?
Uch Tvh &l a9, 30 @Y & qaq &l 75%

3T 39 UIIVE §1 WA AR T T §7
(a) 156 Ibs/156 TI3TE
(b) 160 Ibs/160 TI3Ue
(c) 165 Ibs/165 TRETE

(d) 166 lbs/166 TI3US
NTA UGC NET/JRF June 2021(25-11-2021 Shift-11)




A man weighs 75% of his own weight plus T
Ibs. How much does he weigh?

T T & a9, AU @ 3 T 750
AT 39 WRVE &1 W I 187

(a) 156 Ibs/156 TRUS P D?

(b) 160 Ibs/160 T3TS

(c) 165 Ibs/165 TI3Ue

(d) 166 1bs/166 TRTE 7
NTA UGC NET/JRF June 2021(25-11-2021 Shift-I1)

)

Ans. (a) : H1 SAfth & ardfdeh aoM = x TRUS
1 ‘

wXx 15
+39=
00/ = —

75%+3900

100
100x - 75x =3900

;5—&: 392(.) C—

3900
SN

X
25
x€j36qBE§ )

-

\




